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ewrite the following statements and fill in the blanks by using the terms
provided below. Some terms may be used more than once or not at all.
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Calculate the size of the necessary increase in gavemment spending: s | e =
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1 1o close an $850 million recessionary gap if the marginal propensity to import Il =S §

i 0.19, $20 is taken away as taxes from every extra $100 earned and the
marginal propensity to save is 0.11,

9 toincrease income from $1.56 trillion to $1.66 trillion given an estimated
value for the multiplier of 3.2. . .

3 ifincome is 1.6% below the full emplayment level estimated at $680 billion,
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the muitiplier is estimated at 2.8 and the goal is to reach full employment. g 1gls (2
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2 if export revenues increase by $6 billion in an economy where MPM = (.12, Sg T =
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taxes are 14% of income and the savings rate is 24 %. S0 12|18 |8 o
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Assume a closed economy. Calculate the size of the marginal propensity to
consume if an increase by the government of expenditures by $122 bilfion was
responsible for national income increasing from $0.860 biltion to $1.104 trillion.
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1 income has increased by $120 billion following an increase in private sector
investment by $50 billion. .

2 incoms decraases by $20 billion when the government euts its spending from
$62.5 hilfion to $54.5 billion.

3 the marginal propensity to withdraw is 0.45.

4 the marginal propensity to consume in a closed economy without government

L intervention is 0.8b.
R 115




